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l EVALUATING STATEMENTS Decide whether the statement is always,
. sometimes, or never true.

14. If m£ 1 = 40°, then m£. 2 = 140°. N
15. If ms 4 = 130°, then ms 2 = 50°.P(
16. £1and 24 are congruent. Q
Mmi2+ms3=msl+med A
1B.L2=s1 A

19.ms2 =90° ~ m43ﬂ

€ UsING ALGEBRA Find the value(s) of the variable(s).
28, 2~ oxrry 0.
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31. \ 32. 33.
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@ UsING ALGEBRA Find the value of x.
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Geometry NAME k& %:q
Worksheet - Congruent Triangles

Date HR
a) Determine whether the following triangles are congruent,

b) If they are, name the triangle congruence (pay attentjq
correspondence when naming the tri;

Postulate (8SS, SAS, ASA, AAS, H
¢) Be sure to show any additional ¢ ou used in your reasoning,
ot possible.” Then given the

H P
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Congruence: Congruence: Congruence:

AABD = A § Ei& AEFG = A » AEMN = A
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Reason: ﬂ:}g\ Reason: Reason: \ 1=
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Congruence:

D [3 F

Congruence: Congruence:

ASTU = A 5’ &&,\ ) AYZA = A ACDE = A q:'(&

—_——

Reason: fm Reason: Reason: 59‘;




25) 26) 27)

Congruence: Congruence:

ATUV = A !;h{i ABCZ = A AEFGEAE&SZ
Reason: % Re\aEEP\E gﬁ) Reason: %

Use the given information to mark the diagram appropriately. Name the triangle
congruence (pay attention to proper correspondence when naming the triangles)
and then identify the Theorem or Postulate (SSS, SAS, ASA, AAS, HL) that would
be used to prove the triangles congruent. If the triangles cannot be proven

congruent, state “‘not possible.”
29) N M
fl\ \/%ﬂl&
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Given: JN = LM: NK = ﬁ;

LN = /M

Congruence:

Given: —CE = XI? /ZB=/D

e
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Congruence:

ACDE = A _D%E
Reason: ma\

30) C D

A B
Given: AC = B_ﬁ; AD = BC

Congruence:

INUTCEYNICy BINY
Reason: 5&

Congruence:

AJKN = A LW

“ ]
Reason: \Q;‘\

Given: S_Q and PR bisect each other

Congruence:

ARST = A m
Reason: %




